%7 i

4

P

B XOXZ WL 72 X,

@ 4x*—8x—60

@2 8y*+16y+8

® —8a’+32a+96

@ —5n*—40n—80

® —7y*+49y—84

® 3a®+12a—96

@ 2m?—22m+56

4x*—40x+100

© 2a*—98

—5p*+45

1) 2a®+26a+72

@ 7a®>+49a+70

@) —2b*+6b+108

/18

2x*—128

B —2s*+4s+70

—8x%+32x—32

@ —3y*+12y+63

4x*—36x+80




A
e

oy

kB H £, i

B DK% KRB L 75 X0,

@D 4x*—8x—60

=4(x*—2x—15)

4(x—5)(x+3)

@2 8y*+16y+8

=8(y*+2y+1)

8(y+1)?

® —8a’+32a+96

=—8(a®*—4a—12)

—8(a+2)(a—06)

@ —5n*—40n—80

=—5(n?+8n+16)

—5(n+4)?

& —T7y*+49y—84

=—=7(y*=T7y+12)

—7(y=3)(y—4)

® 3a*+12a—96

=3(a®*+4a—32)

3(a+8)(a—4)

2m*—22m+56

=2(m*—11m+28)

2m—7)(m—4)

4x*—40x+100

=4(x*—10x+25)

4(x—5)?

2a*—98

=2(a®>—49)

2(a+7)(a—7)

—5p*+45

=—5(b*—9)

—5(b+3)(b—3)

2a*+26a+72

=2(a®*+13a+36)

2(a+9)(a+4)

7a*+49a+70

=7(a®>+7a+10)

7(a+2)(a+5)

/18

@) —2p*+6b+108

=—2(b*—3b—54)

—2(b—9)(b+6)

2x*—128

=2(x*—64)

2(x+8)(x—8)

B —2s*+4s+70

=—2(s*—2s—35)

—2(s—7)(s+5)

—8x%+32x—32

=—8(x*—4x+4)

—8(x—2)?

@ —3y*+12y+63

=—3(y*—4y—21)

—3(y—=Dy+3)

4x*—36x+80

=4(x*—9x+20)

4(x—5)(x—4)




